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Q1.
1.
termed as
Option A: Data Independence
Option B:  |Data Mapping
Option C:  |Data Isolation
Option D:  [Data Transformation
2. |An attribute (say A) of entltv sét is calculated from other attrxbute 'alue (say ' )." The attribute
A is called < : s
Option A: Single valued ;
Option B:  [Multi valued d
Option C:  |Composite
Option D:  [Derived
3. Consider the followmg relatlons
Parts (pid,pname;eolor) -
PartCost (pid;cost) ,
What does the follc)ng relatlonal algebra expressxon 1epresent‘7
led ((Gcolor- rcd’ (Parts)) & (Obogj;ZlOOO(Pﬂl’tCOSt)))
Option At .;.,Fmd the pld of alI parts whose coler red. :
OptionB:  |Find the pid of all partns yl@ose,color is red or cost 2 1000.
OptionC: Fingd the pid of all parts whose color is red but not cost = 1000.
Find the pld of all parts whose color is red and cost 2 1000 .

Option D:

;"Lct El and E2.56 tha entitics inan E~R dlagram with one multi-valued attribute in E1, R1 and|
R2 are-two relatxonshxps between E1 and B2, where R1 is one-to-many and R2 is many-
' : “fto= “many,-Rl-and R2 do not have any attributes of their own, What is the minimum number

of tables required to represen_t this situation in the relational model.

| Option B: ~j4~ -
[ OptionC: B &
Ok Option DS Iy & LRl
PO " |Consider the instructor table:

Jinsert a new instructor ‘1-101', named 'PMJ’, with 50,000 salarv for department]
COMP'. identify the appropriate SQL statement.

[NSTRUCTOR (instr_id, name, dept name, salary).

T OptionA:

s 'INSERT‘_;JNTO TABLE INSTRUCTOR VALUES ('1-101'PMJ',’COMP", 10,00,000)
1. Option B: "INSERT INTO INSTRUCTOR {'1-101''PMJ’'COMP’, 50,000)

: ;'thi‘g_nr(‘?:-:,i INSERT INTO INSTRUCTOR VALUES ('1-101', "PMJ, ‘'COMP’, 50,000)

1=
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Option D:
101", ‘PMJ', ‘COMP’, 50,000)
6. Let R= (A, B, C, D, E, F) be a relation with the followmg dependenmes B- >CE C—>F
EC->D, A->B. Which of the following is a candldate y.fo - o g A
Option A:  |C ;
Option B: [E
Option C:  |A
Option D: B
7. Identify the incorrect statement. |
Option A: 3NF doesn't have transitive dependencles
Option B: _ |[Composite attributes are not allowed in 1INF- Vel Ao
Option C: |In 2NF, there should not be any Full ﬁmctxonal dcpendencles 4
Option D: |[In BCNF, tr1v1a1 FD are allowed " & g ~
8. If T1,T2 are two transactions. and;II 12 are two 1mtructxons of 'I‘I and T2 respectlvely
then I1 and 12 are conflicting’ mstructmns i by,
Option A _'They operate on the different data item
Option B: [They belong to different transactions.
Option C: |At Least one of them-is a write. operatlon e
Option D: At Least one of them 1s 4 read operatmn
X Choose the” correct Optmn X : ‘ @
Option A:  [Every Conflict serializable schedule is also View- sertahzable
Option B:  [Every View: sét "Ilzabie schedule is also conﬂlct Senah?able
Option C: Botha and b *
Option D:

oD
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INSERT INTO TABLE INSTRUCTOR table instr_id, name, dépt name, salary) VALUES(i--f;; )



a) Select: . b) Prq;ect H

Solve any Two Questlons out of Thre

Book (book “id tltle author, cost) - =
Store( torg no cny, sfate in ve:
id .

ne ,dlof normahzatlonﬂ Explam INF,2NF,3NF and BCNF with examples.

Demgn ah EER schema for a- BANK database.

.Each bank can have multxple branches and each branch can have multiple accounts

and i,loa’ms Bankrkeeps the track of different types of Accounts (Saving_aacount,
: ‘ ) ,.Loans (Car_loans,Home_loans,...) , each account’s Transaction
”heck ) and each loan’s Payments; both of these include the

,.‘Solve‘an Two Questions out of Three 10 marks each ,

% ‘What is Deadlock and explain deadlock handling in DBMS with Example.

Q1
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T
READ(X) 5
READ(Z) G

READ(Z)

WRITE(X)

Describe ACID:properties with tion diagram of

transaction.

0.
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